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QUESTION 1

Which of the following commands set the sticky bit for the directory /tmp? (Choose TWO correct answers.) 

A. chmod +s /tmp 

B. chmod +t /tmp 

C. chmod 1775 /tmp 

D. chmod 4775 /tmp 

E. chmod 2775 /tmp 

Correct Answer: BC 

 

QUESTION 2

Which of the following sequences in the vi editor saves the opened document and exits the editor? (Choose TWO
correct answers.) 

A. esc ZZ 

B. ctrl :w! 

C. esc zz 

D. esc :wq! 

E. ctrl XX 

Correct Answer: AD 

 

QUESTION 3

In compliance with the FHS, in which of the directories are man pages found? 

A. /usr/share/man 

B. /opt/man 

C. /usr/doc/ 

D. /var/pkg/man 

E. /var/man 

Correct Answer: A 
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QUESTION 4

What does the ? symbol within regular expressions represent? 

A. Match the preceding qualifier one or more times. 

B. Match the preceding qualifier zero or more times. 

C. Match the preceding qualifier zero or one times. 

D. Match a literal ? character. 

Correct Answer: C 

 

QUESTION 5

What is the difference between the i and a commands of the vi editor? 

A. i (interactive) requires the user to explicitly switch between vi modes whereas a (automatic) switches modes
automatically. 

B. i (insert) inserts text before the current cursor position whereas a (append) inserts text after the cursor. 

C. i (independent rows) starts every new line at the first character whereas a (aligned rows) keeps the indentation of the
previous line. 

D. i (interrupt) temporarily suspends editing of a file to the background whereas a (abort) terminates editing. 

Correct Answer: B 
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